# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 1 - Clydesdale West
Valid Votes	7,246
Positions to be Filled	4
Quota	1,450

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Poppy CORBETT	Scottish Conservative and Unionist	2,264
Lynsey HAMILTON	Scottish Labour Party	839
Pat LEE	Tommy Sheridan - Solidarity - Hope Over Fear	90
Eileen LOGAN	Scottish Labour Party	1,566
Peter Charles MEEHAN	Scottish Liberal Democrats	148
Mandy MEIKLE	Scottish Green Party	118
David SHEARER	Scottish National Party (SNP)	1,611
Chris TRAVIS	Scottish National Party (SNP)	610
	Total	7,246
Candidate Poppy CORBETT Elected with 2,26	64 votes, being in excess of the quota of 1,450	

Candidate Eileen LOGAN Elected with 1,566 votes, being in excess of the quota of 1,450

Candidate David SHEARER Elected with 1,611 votes, being in excess of the quota of 1,450

# **Transfers Report**

This report contains the transfers results.

### Stage 2 - Surplus of Poppy CORBETT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	585	0.35954	210.33090
Transfer to Pat LEE	49	0.35954	17.61746
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	463	0.35954	166.46702
Transfer to Mandy MEIKLE	82	0.35954	29.48228
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	47	0.35954	16.89838
Value of non-transferable ballot papers			373.20396
	Total		814.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 3 - Surplus of David SHEARER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	59	0.09993	5.89587
Transfer to Pat LEE	25	0.09993	2.49825
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	17	0.09993	1.69881
Transfer to Mandy MEIKLE	46	0.09993	4.59678
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	1,367	0.09993	136.60431
Value of non-transferable ballot papers			9.70598
	Total		161.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 4 - Surplus of Eileen LOGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	1,057	0.07407	78.29199
Transfer to Pat LEE	21	0.07407	1.55547
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	94	0.07407	6.96258
Transfer to Mandy MEIKLE	33	0.07407	2.44431
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	89	0.07407	6.59223
Value of non-transferable ballot papers			20.15342
	Total		116.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Pat LEE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	7	0.09993	0.69951
Transfer to Lynsey HAMILTON	10	0.35954	3.59540
Transfer to Lynsey HAMILTON	22	1.00000	22.00000
Transfer to Lynsey HAMILTON	10	0.07407	0.74070
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	1	0.07407	0.07407
Transfer to Peter Charles MEEHAN	9	1.00000	9.00000
Transfer to Peter Charles MEEHAN	7	0.35954	2.51678
Transfer to Peter Charles MEEHAN	1	0.09993	0.09993
Transfer to Mandy MEIKLE	4	0.09993	0.39972
Transfer to Mandy MEIKLE	8	0.35954	2.87632
Transfer to Mandy MEIKLE	14	1.00000	14.00000
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	13	1.00000	13.00000
Transfer to Chris TRAVIS	1	0.35954	0.35954
Transfer to Chris TRAVIS	8	0.09993	0.79944
Value of non-transferable ballot papers			41.50977
	Total		111.67118

# **Transfers Report**

This report contains the transfers results.

### Stage 6 - Exclusion of Mandy MEIKLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	15	0.07407	1.11105
Transfer to Lynsey HAMILTON	4	0.09993	0.39972
Transfer to Lynsey HAMILTON	10	0.35954	3.59540
Transfer to Lynsey HAMILTON	27	1.00000	27.00000
Transfer to Pat LEE	0	0.00000	0.00000
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	25	1.00000	25.00000
Transfer to Peter Charles MEEHAN	32	0.35954	11.50528
Transfer to Peter Charles MEEHAN	8	0.09993	0.79944
Transfer to Peter Charles MEEHAN	3	0.07407	0.22221
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	4	0.07407	0.29628
Transfer to Chris TRAVIS	18	0.09993	1.79874
Transfer to Chris TRAVIS	45	1.00000	45.00000
Value of non-transferable ballot papers			55.07129
	Total		171.79941

# **Transfers Report**

This report contains the transfers results.

### Stage 7 - Exclusion of Peter Charles MEEHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	39	0.07407	2.88873
Transfer to Lynsey HAMILTON	3	0.09993	0.29979
Transfer to Lynsey HAMILTON	171	0.35954	61.48134
Transfer to Lynsey HAMILTON	65	1.00000	65.00000
Transfer to Pat LEE	0	0.00000	0.00000
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Mandy MEIKLE	0	0.00000	0.00000
Transfer to David SHEARER	0	0.00000	0.00000
Transfer to Chris TRAVIS	30	1.00000	30.00000
Transfer to Chris TRAVIS	13	0.35954	4.67402
Transfer to Chris TRAVIS	8	0.09993	0.79944
Transfer to Chris TRAVIS	5	0.07407	0.37035
Value of non-transferable ballot papers			206.83245

Total

372.34612

# **Transfers Report**

This report contains the transfers results.

### Stage 8 - Exclusion of Chris TRAVIS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Poppy CORBETT	0	0.00000	0.00000
Transfer to Lynsey HAMILTON	32	0.07407	2.37024
Transfer to Lynsey HAMILTON	401	0.09993	40.07193
Transfer to Lynsey HAMILTON	9	0.35954	3.23586
Transfer to Lynsey HAMILTON	248	1.00000	248.00000
Transfer to Pat LEE	0	0.00000	0.00000
Transfer to Eileen LOGAN	0	0.00000	0.00000
Transfer to Peter Charles MEEHAN	0	0.00000	0.00000
Transfer to Mandy MEIKLE	0	0.00000	0.00000
Transfer to David SHEARER	0	0.00000	0.00000
Value of non-transferable ballot papers			573.51470

Total

867.19273